Answer on Question #53690 — Math — Statistics and Probability

The probability that A, B and C can solve a problem are 4/5, 2/3 and 3/7 respectively. The probability of
problem being solved by A and B is 8/15, Band Cis 2/7, A and Cis 12/15. The probability of problem being
solved by all three is 8/35. Find the probability that problem is not solved by anyone
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Find: p(AuBUC)

Solution

P(AUBUC)=p(A)+ p(B)+ p(C)—p(AnB)—p(ANC)-p(BNC)+ p(ANBNC) =
4238212+8 2 1 8 2 13 53
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Answer: 5—2

105

www.AssignmentExpert.com



